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- Addition of Two 2-digit Numbers (without carry over)
‘Example  Add 12 and 15.
———

Method :
T o Step 1 : Write the tens digit below tens’
1 I column and the ones digit below
b ones’ column.
5 Step 2 : First, add the ones together and
2 7 write below ones' column.

2 ones + 5 ones = 7 ones

Step 3 : Then, add the tens together and
write below tens' column.

1ten + 1ten = 2 tens

Ans. 27
Exercise — e —
Add the following.
34O TO TO TO TO
35 I 5 4 4 2 2.3
+ 1 2 + 2 5 + 3 2 ‘ *3:‘3 + 20
47]) 38 56 [77]) 4
TO TO TO ) T TO
4 4 2 5 5 5 . . 6 0
+ 2 2 T + 2 2 +__27_0_ + 2 0
66l] S8 71) 9 2]) 18«
0 Ts O TO 10 TO
3 7 9 7 6 9 5 8 5
S .20 1.4 +02 = A0
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“Example 2 Add 13, 24 and 35

Step 1 : Add the ones together.

TO 3 ones + 4 ones + 5 ones = 12 ones
@ 12 ones = 10 ones + 2 ones
- 13 =1ten + 2 ones ‘
2 4 Write 2 under ones' column and carry over
+ 35 1 ten to the tens' column.
Step 2 : Add the tens together including the carry over.
J 1ten + 2 tens + 3 tens + 1 ten (carry over)
=7 tens
Write 7 under tens' column. Ans. 72
Exercise -
Add the following by regrouping.
70 , TO TO TO TO |
1ten + 3 8 6 | 4 7 3 9 s A a
e £15 | +45 + 46 415 +16 |
| | @ ;
041 9 2 g1l) @ol) 941
T O TO TO ‘T 0 TO ’
D 1 O @ o |
o 7 39 5 8 55 19 :
81 3 + 2 7 +18 tQ_'/._’ tigle 7 S0
7 0] 21 [36]]
B6ver) 708 66 |\ [Z61) [62]) (361
TO TO TO I jal @) T 0
@ 1 ® D Q
4 3 53 14 92 3 8
1 4 35 4 5 55 14
' +23 +36 +27 +14 A
-y /. Q v [7 4
[E[]2W$J i U2 11 .__"_;:lJ

Ans. 61 -





{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }

